
Choose Life Without Boundaries

SPARE  PARTS
Segway Navimow X Series

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



Overall View

1

2

11 

13 

15

4

5

6

7

9

10

8

7

12

14

3

— 1 —

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



Overall View

    2 LED Display Screen, Assembly

4 Front Shell

Handle, Assembly

Shell, Front Camera

3

Upper Shell, Module

11

12

 

5

Drive Wheel, Module

Rear Cover, Assembly

 

6

Chassis, Assembly

7

Battery Pack

Bumper, Assembly

8

9

10

Cover, Blade Disc

Upper Shell, Decorative 1

1

1

1

1

1

2

1

1

1

1

1

14

 15 Universal Wheel, Module

Blade Disc, Assembly13

Cover, Battery 1

1

2

No. Description NotesQuantity

— 2

1

 —

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



—3—

Covers

1

6

9

10
11

4 

8
7 

8 

2 

3 

4 

5

—3—

1
 

 

 

 

 

 

 

1

 

1

1

No

1

. Notes

2

1

1

1

Quantity

 

 

 

 

 

 

 

 

 

1

2

3 

7 

8 

9

 

10

 

 

 

 

 

6

 

 

 5

  

 

 

 

 

4

6

2

1

 

  

4

PN

AB.12.03.00.0060

AB.12.03.00.0007

AB.12.03.00.0097

 

AB.12.03.00.0098

AB.12.03.00.0028

AB.12.03.00.0033

 

AB.12.03.00.0032

AB.12.03.00.0086

Descrip

AB.12.03.00.0031

tion

Upper Shell, Decorative

Rear Fender, Right

Rear Fender, X330, Left

1AB.12.03.00.0006 Rear Fender, X315, Left

Rear Fender, X350, Left

Rear Fender, X390, Left

Cap, Tow Hook

Rear Logo

Front Shell

Rear Cover

Fastener, Self Tapping, K50H16

Fastener, Self Tapping, K40H16

Bumper, Assembly

Fastener, M6, Flange Bolt

AB.12.02.00.0153

AB.12.02.00.0154

AB.12.03.00.0105

AB.12.03.00.0076

Only for X315 models

11

Only for X350 models

Only for X330 models

Only for X390 models

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



— 4 —

Screen & Headlight & Handle Assembly

2 

1 

3 

1

5

4

8

1

4

6

7

No. Notes
 

 

 

 

 

  

 

Quantity

 

 

 

 

 

 

 

1 

2 

3 

4 

5 

6 

7
 

 

 

 

PN

AB.12.02.00.0154

AB.12.03.00.0075

AB.12.03.00.0003

AB.12.02.00.0153

AB.12.03.00.0073

AB.12.03.00.0071

AB.12.03.00.0072

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description

Fastener, Self Tapping, K40H16 

LED Display Screen, Assembly 

Headlight, Module

Fastener, Self Tapping, K50H16 

Lower Shell, Display Screen

Handle, Assembly

Door, Trimmer Access

9 

1

1

10

1

1

1

1Shell, Front CameraAB.12.03.00.00878

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



— 5 —

Upper Shell Module & Battery & Wheels

4

13

11

1

5
 

6
7

3
14

2

8

1
15

1

12

10

9

1

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



Upper Shell Module & Battery & Wheels

— 6 —

Upper Shell Module & Battery & Wheels

4

5

6

8

9

7

No. Notes

10

PN
 

 

 

 

 

  

 

  

 

Quantity

2

3

Only for X315 models

Only for X330 models

Only for X350 models
11

12

14

13

  

 

 

  

 

 

 48

1

1

1

2

2

8

2

 12

2

1

1

Description

Fastener, Self Tapping, K50H16

Film, Waterproof, Breath

Button, E-Stop, Assembly

able

Drive Wheel, Module

Upper Shell, Assembly

Shaft Plate, Hub Motor

Fastener, M5x16

Drive Wheel

Fastener, SHCS, M4x12

Cover, Drive Wheel

Battery Pack, 6Ah

Battery Pack, 8Ah

Battery Pack, 10Ah

Cover, Battery

Universal Wheel, Module

 Sealing Screw, M5x10

1

1

AB.12.02.00.0153

AB.12.03.00.0062

AB.12.03.00.0063

AB.12.03.00.0061

AB.12.03.00.0100

AB.12.03.00.0045

AB.12.03.00.0034

AB.12.03.00.0101

AB.12.02.00.0178

AB.12.03.00.0052

AB.12.03.00.0017

AB.12.03.00.0001

AB.12.03.00.0002 

Only for X390 modelsBattery Pack, 12.8Ah 1AB.12.03.00.0126

AB.12.03.00.0005

AB.12.03.00.0048

AB.12.03.00.0136

1

2

1

15   Support Bracket, Hub Motor  AB.12.03.00.0065 2
P. J. Skovværktøj ApS

Virkelyst 3, 9400 Nørresundby
www.savdoktoren.dk



3

4

8

7

5

6

2

1

1

1

7

No. Notes

1

7

1

 

 

 

 

 

 

 

9 1

 

Quantity

2

1

10 1

PN

AB.12.03.00.0058

AB.12.03.00.0056

AB.12.03.00.0039

AB.12.03.00.0066

AB.12.02.00.0153

AB.12.03.00.0085

AB.12.02.00.0178

AB.12.03.00.0004

AB.12.03.00.0095

 

Description

Guide Bracket, Mowing Motor

Worm Gear, Height Adjustment

Motor, Mowing, EU-UK-CH-ANZ

Cover, Mowing Module, EU-UK-CH-ANZ 

Fastener, Self Tapping, K50H16

Cover, Blade Disc

Fastener, SHCS, M4x12

Blade Disc, Assembly

Clamp, Motor wire

Fastener, Self Tapping, K40H16AB.12.02.00.0154

1

2

3

4

5

6

7

7

8

9

10

Mowing Module

—   7 —

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



— 8 —

Chassis Assembly 01

3

7

6

4

5

No. NotesDescription

 

8

Quantity

2

1

9

10

11

 

 

 

1 

1  

7

1 

1 

1 

9 

1 

1

1

1

PN

AB.12.03.00.0021

AB.12.03.00.0107

AB.12.02.00.0154

AB.12.03.00.0059

AB.12.03.00.0044

AB.12.03.00.0025

AB.12.02.00.0165

AB.12.03.00.0038

AB.12.03.00.0057

AB.12.03.00.0055

 

 

 

AB.12.03.00.0064

12 1

Cable, GNSS-PCB

Trimmer Cable, Drive-PCB End

Fastener, Self Tapping, K40H16 

Antenna, GNSS-PCB

Shielding Cover, GNSS-PCB

Key-PCB

Fastener, Self Tapping, 2.9x9.5 

Transition-PCB

Support Bracket, GNSS-PCB

Speaker, Module

Bracket, Charging Cable

Foam, Key-PCBAB.12.03.00.0029

1

2

6

7
8

10

3

11

3

4

3

5

9

12

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



— 9 —

Chassis Assembly 02

3

4

8

7

5

6

No. Notes

 

9

11

107

12

 

 

 

 

 

 

 

 

  

 

    

PN

AB.12.02.00.0165

AB.12.03.00.0046

AB.12.02.00.0154

AB.12.02.00.0155

AB.12.03.00.0042

AB.12.03.00.0026

AB.12.03.00.0049

AB.12.03.00.0047

AB.12.03.00.0037

AB.12.03.00.0070

AB.12.03.00.0018

 

 

 

 

 

 

 

 

6 

1

20

7

1

1

1 

1 

1 

1 

1 

1

 

 

 

Description

Fastener, Self Tapping, 2.9x9.5 

Drive-PCB, Assembly

Fastener, Self Tapping, K40H16 

Fastener, SHCS, M3x8

Shielding Cover, Main-PCB

Main-PCB, EU-UK-CH-ANZ

Motor, Height Adjustment

Bracket Assembly, Drive-PCB

Sensor, Cutting Height

Clamp, Cutting Height Sensor 

Cable, Battery Adapter

Clamp, Wi-Fi AntennaAB.12.03.00.0106

Quantity

2

1

1

2 

3

8

9
3
10

6

7

3

11

12

3

4

5

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



— 10 —

Chassis Assembly 03

7

8

9

1

10

6

 

 

 

 

 

 

 

 

 

1 

2 

3 

4 

5

14

13

 

 

 

  

 

 

 7

 8

 1

11 

10

12

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



— 11 —

Chassis Assembly 03

AB.12.02.00.0153

AB.12.03.00.0054

AB.12.03.00.0041

AB.12.03.00.0043

AB.12.03.00.0053

AB.12.02.00.0154

AB.12.03.00.0036

AB.12.02.00.0118

1

12

1

1

1

14

2

2

     AB.12.03.00.0024

AB.12.03.00.0022

AB.12.03.00.0023

1

1

1Camera Module, Right

Sensor-PCB, Bumper, L-R

AB.12.03.00.0019

AB.12.03.00.0069

1

1Chassis, Assembly

 

 

 

 

 

 

 

 

 

1 

2 

3 

4 

5 

6 

 7

 8

 

 

 

 

 

No

 

 

9

10

11

12

13

14 AB.12.02.00.0156 2Twist Buckle

Cable, Screen-Headlight

Camera Module, Left

Sensor-PCB, Lift Detectio

Cable, Sensor-PCB, Lift Detection

n

Fastener, Self Tapping, K40H16

Sensor-PCB, Bumper, Front

Shielding Cover, Front Camera

Charging Port, Assembly

Camera Module, Front

Fastener, Self Tapping, K50H16

. NotesDescriptionPN Quantity

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



— 12 —

GNSS Antenna

6

8

7

9

1 

2

3 

4

5

10

11

12

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



— 13 —

3

4

8

7

5

 

No

6

. Descrip NotestionPN

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
      

1

1

1

1

5

1

1

1

10

1

10

Quantity

 

 

 

 

 

 

 

 

 

 

 

 

     

2

AB.12.03.00.0134

AB.12.03.00.0015

AB.12.03.00.0016

AB.12.03.00.0014

AB.12.02.00.0157

AB.12.01.00.0247

AD.12.00.14.0060

AB.50.0017.20

AB.12.03.00.0124

Power Cable, GNSS Ante

Primary Antenna, EU-UK-CH

nna

Transceiver, Antenna

Pole, GNSS Antenna

Tape, Velcro

Tube, Assembly

Extension Cable, GNSS Antenna

Base Fork, Assembly

Cable Peg

Power Adaptor, GNSS Antenna EUAD.12.00.13.0011

111

1

1

AD.12.00.14.0066 Power Adaptor, GNSS Antenna UK

Power Adaptor, GNSS Antenna CHAD.12.00.14.0065

Fastener, Philips, S4.2x13AB.12.02.00.0176

112 Waterproof Cap, Extension CableAB.12.03.00.0030

GNSS Antenna

      
1

9

 
AB.12.03.00.0013

 

Antenna, Signal Enhancement, EU-UK-CH 1

 

For EU standard models

For UK standard models

For CH standard models

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



— 14 —

7

8

10 12

15

11

1

9

13

3

6

14

1 

2 

3 

4 

Charging Station

3

4

8

7

5

6

11

10

No

9

. Notes

12

 

 

 

13

PN Quantity

2

8 pcs for fixing charging station

14

 

 

 

 

 

 

 

15

 

 

 

   

 6

 1

 1

 4

 1

 1

 1

 1

 1

 4

 1

 1

 8

 1

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description

Fastener, Self Tapping, K40H16 

Handle Assembly, CGS

Decorative Cover, CGS

Fastener, Self Tapping, K50H16 

Pad, Cable Protection

Cover, CGS Handle, Right

CGS Main Body, EU-UK-CH-ANZ

Cover, CGS Handle, Left

Charging Shaft, Assembly

Reflective Strip, L-Shaped

CGS-PCB, Assembly

Socket Key, Hexagon, 6mm

Ground Nail, Charging Station 

Base Plate, Front, CGS

Base Plate, Rear, CGS 1

AB.12.02.00.0154

 AB.12.03.00.0078

 AB.12.03.00.0081

 AB.12.02.00.0153

 AB.12.03.00.0082

 AB.12.03.00.0092

 AB.12.03.00.0090

 AB.12.03.00.0091

 AB.12.03.00.0080

 AB.12.02.00.0140

 AB.12.03.00.0079

 AB.12.02.00.0183

 AB.12.02.00.0179

 AB.12.03.00.0088

AB.12.03.00.0089

1

1 pcs for fixing charging station

5

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



— 15 —

2

4

3

1

Power Supply

2

3

1

1

1

1

No

10

. NotesDescription

 

Extension Cable, Power A

Power Adaptor, EU

Power Adaptor, UK

Power Adaptor, CH

daptor

Cable Peg

PN

AB.12.03.00.00

AB.12.03.00.0010

99

AB.12.03.00.0108

AB.12.03.00.0008

AB.12.03.00.0124

4 AB.12.03.00.0 1Waterproof Cap, Extension Cable030

Quantity

  

   

   1 For UK standard m

For EU standard models

odels

For CH standard models

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



— 16 —

进水检测
Water detection
Détection d'eau

Wassererkennung
Garantie annulée si 

ouvert/retiré

Bei gebrochenem 
Garantiesiegel erlischt die 

Garantie

Warranty Void if Broken

3

2

1

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Descrip NotNo. estionPN

6

2

1

1

1

1

1

1

1

1

Quantity

 

 

 

 

 

 

 

 

 

 

 

 

     AB.12.02.00.0175

AB.12.02.00.0177

AB.12.03.00.0012

AB.12.03.00.0096

AB.12.03.00.0127

AB.12.03.00.0128

AB.12.03.00.0094

AB.12.03.00.0093

AB.12.03.00.0104

lndication label, Water lngress

Label, Tamper-proof

Labeled Packaging Kit, X315E

Labeled Packaging Kit, X330E

Labeled Packaging Kit, X350E

Labeled Packaging Kit, X390E

Labeled Packaging Kit, X315E-UK

Labeled Packaging Kit, X330E-UK

Labeled Packaging Kit, X350E-UK

Labeled Packaging Kit, X390E-UKAB.12.03.00.0051

1Labeled Packaging Kit, X315E-CHAB.12.03.00.0074

1Labeled Packaging Kit, X330E-CHAB.12.03.00.0050

1

2

Labeled Packaging Kit, X350E-CHAB.12.03.00.0103

1

3

Labeled Packaging Kit, X390E-CH

Only for X315E

Only for X330E

Only for X350E

Only for X390E

Only for X315E UK model

Only for X330E UK model

Only for X350E UK model

Only for X390E UK model

Only for X315E CH model

Only for X330E CH model

Only for X350E CH model

Only for X390E CH modelAB.12.03.00.0020

Packaging

 1

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



Garage L

1

2

1

1

No

1

. Notes

1

8

1

 

 

 

1

 

 

 

 

 

  

  

   

   

   

   

 

  

Quantity

1

2

3

5

6

8

7

9

Additional 1 pc for fixing garage

 1

1

2

3

4

5

6

7

8

9

10 0

 

 

 

Additional 1 pc for fixing garage

PN

AB.12.03.00.0121

AB.12.01.00.0255

AB.12.01.00.0254

AB.12.01.00.0256

AB.12.01.00.0257

AB.12.03.00.0120

AB.12.02.00.0179

AB.12.02.00.0182

AB.12.02.00.0183

AB.12.02.00.0154

Additional 8 pcs for fixing garage

4 2

10

— 17 —

Description

Front Cover, Garage L, EU-UK-CH-ANZ 

Connecting Pin, Garage S-M-L

Shaft Bracket, Garage S-M-L

Lower Cover, Garage M-L

Rear Window, Garage M-L

Support Foot, Garage L

Ground Nail, Charging Station

Socket Key, Hexagon, 4mm

Socket Key, Hexagon, 6mm

Fastener, Self Tapping, K40H16

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



— 18 —

Trimmer

1

2

3

7

8

1

12

14

8

13

6

4 

5

10

11

9

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



— 19 —

Trimmer

2 AB.12.03.00.0115

4 AB.12.03.00.0116

AB.12.03.00.0119

AB.12.03.00.0114

3

AB.12.03.00.0109

10

11

5

AB.12.03.00.0110

6

AB.12.02.00.0154

AB.12.03.00.0111

AB.12.03.00.0117

AB.12.03.00.011

7

8

9

8

AB.12.02.00.0155 7

1

1

1

1

1

1

5

2

2

1

14

AD.12.00.14.0051

AB.12.03.00.0112

12

13

AD.12.00.14.0054

1

1

1

 

1

 

 

  

  

  

  

  

 

No

Locking Nut, Trim

Frame Bracket, Trim

Shielding Foam, Trim

Motor Assembly, Trim

Roller, Trim

Roller Fastener, Trim

Guard Cover, Trim

Line

Trimmer Spool, EU-UK-CH

Cutter, Trimmer

Trimmer Head, EU-UK-CH

mer

mer

mer

Fastener, Self Tapping, K40H16

mer

mer

mer

mer

Cover Assembly, Trim

Drive Module, Trimmer, EU-UK-CH

mer

Fastener, SHCS, M3x8

. Descrip NotestionPN Quantity

P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk



P. J. Skovværktøj ApS
Virkelyst 3, 9400 Nørresundby

www.savdoktoren.dk




